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General instructions

* Use black or blue ball-point pen.

* The marks for questions are shown in brackets.

* This examination contains 12 questions. Answer all questions.

* Answer the questions in the spaces provided. Answers written in margins
or on blank pages will not be marked.

* Cross through any work you do not want to be marked.
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1 Name three types of soil cultivation. (3 marks)
2 a) Whatisplasmolysis? (1 mark)

b)  Describe the process of plasmolysis. (3 marks)
3 Describe three benefits of adding organic matter as a method of soil improvement. (6 marks)
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4 State two types of reproductionin plants. (2 marks)
5  Explaintwo functions of the fly wheel on a chainsaw. (4 marks)
6  Justify the use of two named felling methods. (6 marks)
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7 Identify three common faults on a chainsaw. (3 marks)

8  Name three pests or diseases currently affecting timber production in the UK. (3 marks)
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9 a) Describehow asonictomographis used. (3 marks)

b)  Summarise two benefits and two limitations of a PiCUS tomograph. (4 marks)
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10 Describe three interventions that can be used to control Oak processionary
moth population. (6 marks)

11 a) Foranamedcommon vertebrate pest, identify the key point from the
host-pest interaction. (2 marks)

b)  Give two management options for a tree affected by the common pestin 11a). (2 marks)
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12 Anarea of ash coppice with oak standards is not regenerating well.
Discuss the possible causes and the management options for the area. (12 marks)
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+ 8 End of examination +



